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51 O0ODODDOOO

00 z,9,2000 f=f(z,y,2)00000000,0 (z,y,2) 0000 fO0CO
(gradientd OO0 OO0 OO0 QOOoO0OO.

af  of  of

gradf = %eﬁ @ey + 9

e.. (5.1)

000 e 0000000000D00O0.grad00 000000, 00000000
oOooOoooD.Gbrynoooooooooo

V:e g_‘_e g_{_eg
) Yoy “0z
gogoo
gradf =V f
googao.

() 000 POOOOOOODOO 000000 QOIOD.OPIO QOIOOD
00000 f00000000000,0000PQODO POOOD VOO
000000000000 @00:0000 PQO dr = eydr+eydy +e.dz
0ooooo).

() VfO f=0000(@OO00000000)00000000000.
(3) ¢0 fO00D0O0DO0DO0O0DOOOOOOD,00000000000000.
000 ,800000000.

(i) V(af+pPBg)=aVf+pVyg (i) V(fg)=9gVf+fVyg

(i) v(?)zw W) Vit =vy

20020 50 200 (DO O0O)
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52 00000D0O0OO0Oooooooo

(1) 000 2000000000 (2,9)0000000000 f= f(z,y)000
O,gradf000,000 f=00000000000.000,r =22+ 2
ooQ.

2

() f=- () f=2 (i) f=ay (v) f=1+05

() 000000 r =ze, +ye,+2e,0000,0000000000000
0.000 r=|r|0O00.

() Vr=" (i) V0= (i) VO)=-% (v) Vir=1
(3) 30000000 Pla,y,2) 000000000 Q( +du,y +dy, 2 +dz) O
Oo0.PQUODODOOOODOODO w=(,mn)00000,000000
of flz+1As,y + mAs, z + nAs) — f(z,y, z)

% = Al}sIEO As

O f0«0000000.000 AsOOO0OO PQOODOOODO.ODOO
goobbood.

R U

ou ou

< |V

20020 50 200 (DO O0O)
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53 0000000
00000000000 0000000O

. 8CLZ‘

A =a,(z,y,2)e, + ay(x,y, 2)e, +a.(z,y,2)e,

O000 @DDOD AO0ODQOODOO0O00).A000 (divergence DODOODOO
0)Oooooooooooo.
da, Oa, Oa,

div A = pe + Dy + P

(5.2)

(1) dvA=V-ADOOOOOOODOO.
(2 p=v(r,y,z) 00000000000,
div- (pA) = (grady) - A + pdiv- A
gooooobn.

@ LUOOobod oo,

: Do D  0A
div (grady) = 8722 + 8; + a—;

gogbogog.

00, div(grady) O V-(Vy), V2o OODDDOD.000 V2OOO ADOO,
0000000000000,

20020 50 200 (DO O0O)
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54 ODOODODOO

00000 AO0O0O,0000 (rotation,000000DO,000)0000000
gogogo.

da da da da da da
A= 4 T = —4_ 7 . .
rot <3y 8z>6x+<8z 8x>ey+<8x ay>ez (6-3)

ggooooooag,

rtA=| 2 2 92

gooon.

(1) rtA=VxADOODODDOOOOOO.
(2 rotA0D s000000000000000 ¢, 000000.
(3) 000000 o000 rot(grady) =000000.

(4) div(rotA)=000000.

(5) rot(pA) = (gradp) x A+ rot ADDODODODO.

20020 50 200 (DO O0O)
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55 UUODOUoboobobDbObOO

(1) 3000000000000000.000000000000000 v(z,y, 2)
000000.0000000000000 P(z,y,2)000000,000
2,y,20000000000 (de,dy,d-)00000000000.0000
00000000000 00000000,0000

(divv)p x dzdydz
0000000000.000 (dve)pd00 POOOO 000000,

(2 0oooooooOoooO0CoobOOoOoo QUOooOoooDobooobo.™d
goooooooobobobbodd «000.70000000 o000
oo,

() v=Qxr00000000.
(i) otv0 0000,

ood Quuoooo Qbbooboooooob.

(3) 000000 C: 7 =z(t)e,+y(t)e,+2(t)e, (00D O00)0000O0OO
000000000 A(z,y,2)00000000,C000000 A(z,y, 2)
000 (steamlined] 00.0000 00000000 r0000000

goobo.

dr
— = A.
dt

gooogbooboboouguoug, bbb ognouooogo,ood
gooooo.ood «oggooog.

() A=oa(re, +ye,),a<0

(i) A=«
(i) A=«

(iv) A=a(ye, —ze,),a <0

(
(
(ye, — xey), a0 >0
(

)

re, +yey), o >0
)
)

20020 50 200 (DO O0O)
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56 vOOoono

O000000000000.000 ¢,y 2),v(x,y,z) 0000000, A(z,y, 2),
B(z,y,2)0000000000.

(1) V x (V) =0

(2) V-(Vex Vi) =0

() V- x (A-B)=(A-V)B+ (B-V)A+Ax (VxB)+Bx (Vx A)
4) V(AxB)=(VxA)-B—(VxB) A

(5) Vx (Ax B)=—(V-A)B+ (B-V)A+ A(V-B) - (A-V)B

6) Ax(VxB)=A-(V-B)— (A-V)B

(7) V x (V x A) = V(V-A) — V2A

20020 50 200 (DO O0O)
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5.7 UUUOOOnO
z,y,2,t 0000000 EHOOOOODODOOOOOO.

. . 10H 10F
dvE =0, dvH=0, rotE:—fa—, rotH:fa—.
c Ot c Ot
000 cO0O00OD00OD.0000 FEFHOODOOODOODODO@Ooooo)oood
goooo.
O°E
ot?

o
H
88252 = ?V*’H.

= *V2E,

20020 50 200 (DO O0O)
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58 DO00OOO0DOOOO

0o000o0booo0oo0oooopooO0o0ooD@oooo)o,000ooDoboDOoo
goo.

ov oD
e +(v-V)v = V(;), (5.4)
Vv =0. (5.5)

000 v=w(z,y,2t)0000000,p,p0 000000000000,

(1) (54)00000000000000000

0

E(va):Vx[vx(va)]
O0o0o0D.0000000 VxoUOoooo.

(2) 0000000 (Vxv=0000,000000 é(z,y,2,¢) 0000

v=Vo

00000000000 (¢0000000000000O0).
(2 0000000,000000000 ¢0
V3 =0
000000000 (0000000000000 0O0).
(3) 000000 O000O0,0000000

|
2P opo
2 P

0000000000 (oo0Oooooon).oo0v=wl00ODO.

20020 50 200 (DO O0O)



